
I.D.:	81169160

PIESE	DE	SCHIMB	PENTRU	TRACTOARE

Data
publicarii

19.04.23 Coduri	CPV 34913000-0

Pretul
estimativ:

722,60	RON	-	722,60	RON 	 	

Descriere: Borna	MAN,	Garn	Inele	19,2x3,	Saiba	grover	FI	16,	Gresor	M10x1,	Gresor	M8x90	H3,	Gresor
M8x45,	Gresor	M6x45,	Acumlator	1-V-100Ah	FORTEC,	Lichid	frana	DOT	4	1L,	Cap	decalamitru
germ.,	Furtun	pompa	de	gresat


